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ScHoLasTic ApTiTUDE TEST (SAT)

Time : 90 Minutes

Maximum Marks : 90

INSTRUCTIONS TO CANDIDATES :

Read the following instructions before you answer
the questions. Answers are to be given in a
SEPARATE OMR ANSWER SHEET provided
inside this booklet. Break the seal and start
answering the questions once asked to do so.

1. Please write your ROLL NUMBER very
clearly (only one digit in one block) as givenin
your Admission Card.

2. There are 90 questions in this test. The
questions are arranged in the following order :
« Questions 1 to 35belong to Social Science
Subjects.
» Questions 36 to 70 are on Science
Subjects.
o Questions 71 to 90 are on Mathematics.

3. Select the most suitable answer for each
question and completely darken the circle
corresponding to the correct alternative as
shown below.

Correct Method Wrong Method

ONON MO D@ e

4. All questions carry ONE MARK each.

5. There is no negative mark. Every correct
answer will be awarded one mark.

6. Do not write your name on any part of the
question booklet or on the answer sheet.
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There are 90 questions in all. For each
question four alternative answers are given
marked as 1, 2, 3, 4. From these, find the most
appropriate answer. The number denoting this
answer is there in the answer sheet against
the question number concerned. Darken the
circle with Blue/BlackBall Pen only. Record
the answers thus in the OMR answer sheet
only. Do not write anything in the question
booklet except your Roll Number on the cover
page and rough work in the space provided
for the purpose.

1. Some events related to India’s
freedom movement are noted below.

(A) Salt Satyagraha

(B) Quit India Movement

(C) Jallianwala Bagh Massacre
(D) Chauri-Chaura Incident

Identify the correct chronological
order of the above events from among
the following :

(1) C,D,A,B
(2 C,B,D,A
(3) D,AB,C
(4) B,C,D,A
2. The Carnatic Wars were fought
between
(1) The French and The Dutch
(2)
(3)
(4)

The Portuguese and The British
The British and The Dutch
The French and The British

M-1
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@061 90 €016 |6T3Ud HENS. 63060 G.2106 JETHIMNo
1,2, 3, 4 ag)am @rswogen|siasil@ moel alj®
oemoo afl®o ©&dos)@BIgyens. @0l ®
NAOWE®O ARRIL0 BOMICWIIL JNOWEM®O BOW
OEMOo  H6eMSlallSlenid:. MY HEMOODD
@YClHNM MMUD OEHOHHSLIOMIIG @omO®
62108 |mTlomalen ens. 00 MMID @SR
Q@0 Mlel EeLIEIE &0l DarlWies eI
Ol ©aIewIUlle] &0l lenid. HEMOETBGD
@r(also00 OMR gomosnseinmia asmo ol
6aIS)O). GI0B IR0 @OSEIEI® miB6llan
&HQUD BaIZl@ MlevBaies GO MMmIo, Oald
UBBSIIM) caeNEl mMIIZIBE MuneIETs GG MISs
BCla i B16B: AOHRIMN0 ag)FAOQYD.

1. eMmIQeOS MVP@ODIMVAOAYMOW]
niqweals oflel mosaleBgIeM
®MISBR.
ag))

enil)
adl)

9al} M®O(Mano
&Jglamy (almnomo

20eflm enloelenIowy
BSOHNOE

) 219@l- 2100 qoEQo

2pal1es @mIgesaildd alomioe ol
W)OS VABIWOW HORINEMMI (B0
ENAANEQIEE

(1) adl, aldl, ag), endl

(2) avl, endl, all, ag)

(3) adl, ag), endl, mil

(4) endl, mdl, all, ag)

2. &0EMISH WIALETBWHD MSINE®
@OE0IODHE @omleloe) ?
(1) (@0e@BHIM0, AW-2JdH0M)0

(2) Bl UIlVIE0M0, (ERIISlats)
000

(3) (6nf1Slaxyd>00)0, W2 d-00)0
(4) (aD6YH000, EDOYlaiE00)0
P.T.O.
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3. Bhimbedka cave, representing

evidences of the stone age people in
India, is located in the State

(1) Kerala
(2) Guijarat
(3) Punjab

(4) Madhya Pradesh

4. The site Catal Hoyuk represents

M-1

(1) Neolithic age

(2) Chalcolithic age

(3) Palaeolithic age

(4) Mesolithic age

The headquarters of the French in
India

(1) Madras

(2) Pondicherry

(3) Surat

(4) Calcutta

Meaning of the Egyptian word
‘hieroglyphics’ is

(1) River Valley

(2) Pyramid

(3) Land of Pharaoh

(4) Sacred Script

SAT

udlelo@n amieu e emelal eicl o)
e j@fleal EloGeniad: (a0 af®)]
OaAOMEIEN ?

(1) cse80

(2) uROO®DY

(3) adermuoeni

(4) OWjlleawUD

21O HAOIWIHS )M B (30
(@SSl s@l ey x0elo

1) maflm vilenwymo

2) ®o@ UlewWo

3) (tooflm vilernwymo
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(
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)
)
)
) oWwulen@no

(QO6RUBHOMIOS e jD6El
@DTOIMo

(1) @M
(2) GatoSleodl
(3) cog

(4) ©OHNS

'06a0600@lanld M’ ag)(m
0D e&Zlaiad (1 aIB@OM @od®A
OQDHI6M ?

(1) omdlmso

(2) aflodlawy

(3) anBOOLIWIOS MOS
(4)

4) alemellad
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7. Matchthe List | with List Il and select

8. Who introduced the ‘Doctrine of Lapse’ ?

9. The term used for state treasury in the

M-1

the correct response from the options
given thereafter :

List| Listll

(i) Flying shuttle a) JamesWatt

(i) Spinning Jenny b) George

Stevenson

(iif) Steam Engine  c¢) John Kay

(iv) Locomotive d) James

Hargreaves

(1) i—d,ii—b,ii—c,iv—a
(2) i—d,ii—c,ii—b,iv-a
(3) i—c,ii—b,ii—d,iv-a

(4) i—c,ii—d,iii—a,iv-Db

(1) Lord Canning
(2) Lord Wellesley
(3) Lord Cornwallis

(4) Lord Dalhousie

Saptanga theory of Kautilya
(1) Janapada

(2) Durga

(3) Dhanda

(4) Kosa

SAT
7. algld — |, aiglés — 1l gyl aldl
€o0USl 2] LOAIWOW] (E-DEOQISIOTTNE:.
algle — | aligle — I
(i) qq@lots auld @) emdlom alog
(i) oflonfloct gzl b)) eez0ded gaflaindavend
(i) epaNw@mo C) e=06m o)
(iv) cenessoemodlal d) emaflom aoodwlaimy
(1) i—-d,ii—b,iii—c,iv—a
(2) i—d,ii—c,ii—b,iv—a
(3) i—c,ii—b,ii—d,iv—a
(4) i—c,ii—d,iii—a,iv—b
8. BETIUBOUD MIGOIWM Mlao
msa flensslomoo ?
(1) ®0mlowy (@)
(2) ealgiyl (@16}
(3) @wmoendUoallny (@)

(4) awmdandml (6

9. ®VSIRleM Taoowd MIELOHETIES
61O agymM@ilexm avyaflafloem
alceam ?

(1) =&mMallno
(2) aQo
(3) B6MWoO
(4) @00

P.T.O.
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10. Who is called as ‘Lokmanya’ ?
(1) Lalalajpat Roy
(2) Bipin Chandra Pal
(3) Subhash Chandra Bose

(4) Balagangadhara Tilak

11.  Who led the revolt of 1857 at Kanpur ?
(1) Nanasaheb
(2) Bahadurshah — 1l
(38) Jhansi Rani

(4) Kunwar Singh

12. Select the odd one
(1) Chandragupta Maurya
(2) Asoka
(3) Chandragupta Il
(4) Bindusara
13. Identify the statement most related to

Mangrove Vegetation.
(1) Also known as coniferous forests

(2) Prevents erosion in river mouths

and seacoasts
(3) Found in Rajasthan desert

(4) Grows where there is seasonal

rainfall
M-1

SAT
10.  ‘@RI0Bm0my ag)MAIen|SIMmOIo ?
(1) e0an elggal® 0oQ)
(2) enflaflad o130 10@d
(3) VoY 2l((3GENIOMY

(4) eNIORINOUWIWD ®@RID,

11.  1857-6a! aflgjaiem® H:06endajdl@d
il 2j®o006m ?
(1) momoavoadlent

2) enlanE)aud N30

)
(8) @womdmil Koeril
(4)

4) oyBAUBIBIou

12, Hu3O0ildeq|sommaion &eens
QOIES

1) 2l(@wa, Do

2) @OEUIIHM

3) 23U M ENSOMD

(1)
(2)
(3)
(4) enflazyvonm

13. @ems@ quavjR0eInymo@] eniaw

M8 (e IWIUM @fl@]ocfla@ydss.

(1) i fldaUOLEHETBID ag)omio
@Glea Sy

(2) malaieuemsglelio  BHSTEDI0
eo&lalo @oal®BMeEm 6.010)
BT}

(3) @ozNOMD M@YEIAIA® B-06mM
easimy

(4) #0ellemonf Moo o aIEleeM
(IBBURETRE @D B:06Mea ]S}
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14.

15.

16.

17.

M-1

Which among the following is the
eastern most longitude.

Hectopascal is the unit for

representing
(1) Atmospheric humidity
2) Atmospheric pressure

4) Cloud cover

(@)

(3) Precipitation

(4)

NIFE is the name given to
1) Continental crust
2
3

4

Oceanic crust

(1)
)
(3) Inner Core
(4)

Mantle
Relate the following terms and

identify the correct matches :
(A) Igneous rocks (i) Limestone

(B) Sedimentary (i) Marble
rocks

(C) Metamorphic (iii) Granite
rocks

(1) A-iii, B-ii, C-i

(2) A-ii, B-iii, C-i

(3) A-iii, B-i, C-ii

(4) A-i, B-ii, C-iii

14.

15.

16.

17.

SAT

21)0I6S C.oIBHOMAIDIE afRQllo
BILH6) BOUITTD) HBS BOELIOUI0 D) ?

£)a0BHESO OB )@
ag)OBNOM agddmoe) ?

(1) @Od0H EOOR®

(2) @EPOOOle adco

(8) udauemo

(4) cacplEmBEgIOS @SOS
mlean (NIFE) agom@ ag)asilem
avgaflafleamnmy ?

(1) a0 ialeivio

(2)
(8) @OB:HHIMI
(4) moaBl@d

MVOYB®S GRG0

alB6MEO8 MIMLeQ|SIO] (dElwow
BRI B H6)6MBBNNDs.

(A) @oerm weal (i) opepomni gl

(B) @ocimocudlel (i) @odenNcd

(C) ®owomd® wer (iii) woeemg

(1) A-iii, B-ii, C-i
(2) A-ii, B-iii, C-i
(3) A-iii, B-i, C-ii
(4) A-i, B-ii, Ciii

P.T.O.
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18.

19.

Identify the statement not true to

latitudes.

(1)

()
(3)
(4)

Curved lines connecting both the

poles
Circles parallel to the equator
Equator is the longest

90° latitudes form the poles

If you are facing the rising Sun, what

is the direction to the left of you ?

(1)
(2)
(3)
(4)

East

West

South

North

20. Scale of a map is the

M-1

(1)
(2)

Indicator of directions

The instrument with which map is

drawn
Symbols used in maps

The ratio of map distance and

corresponding ground distance

SAT

18.  @0HH0UD6TBEES MVo6IMU] 2]
OMAIW (IPIUMER®) ?

(1) wyauemeg entaullafleeiom
QU (B>BO6UBUD

(2) DWICEEIEY MVATNHODOW
QLODETBUD

(3) DWEEIIEM EDAIWIE afiRQiio
Mg HySl@

(4) 90° @OHBH0UETRMRD (WIIETR
go6m

19. e 9B MIOIOHM EMIHE]
oo, AileTBRIOS NS®NI0 aR®

Blroodiidlono ?
(1) #N9H6)
(2) auslevmoc
(8) e®BHE

(4) usHe

20. BlISOTIORI B®I® ag)(MIT
(1) Alwooauyole-6oma06m
(2) Blats MIREMIEM HalLEEMMO6ITY
(3) ‘latsaflamsmegoey

(4) ‘lals 3y G)alldilerl WLNdd@A
300llo ®mOMILNKS @OMIalo®

Q06m
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21.

22.

23.

24.

M-1

If the scale of amap is 1 cmto 5 km,
what is the distance between two
places on the map which are actually
20 km apart ?

Solid part of the surface of the earth
is called

]
2
3
4

Hydrosphere
Lithosphere

(1)
)
(3) Atmosphere
(4) Biosphere

Choose the article of Indian
Constitution which guarantees free
and compulsory education for all
children.

(1) Article 20
(2) Article 21
(3) Article 21 A
(4) Article 28

Among the statements given below,
which one is correct in relation to the
Right to Property ?

(1) Included in the Directive Principles
of State Policy

(2) ltis an Ordinary Legal Right
(3) Itis a Fundamental Right
(4) Itis a Political Right

21.

22.

23.

24.

SAT

Glalsamilenl @@ 1 emva@lalgdlay
5 ®rlealo allgnoeemesl@ 20 o:lealo
21gd @o:eIEmId mudlaile algyom
06NE} (RNLIETBRIOS BJalS B0 ag)(®
@O @lse)0 ?

(1) 2 eqv. al.
(2) 4 e. oll.
(3) 6 eqv. al.
(4)

4) 8 e. all.

cialafleal aIedIMANIENSs M6mb
AIO06M

(1) =emembelo
(2)
(3) @D HmHo
(4)

4

wdlelnaemuelo

glaiaembelo

af)LI0dSle B0 Mldeniaull®malio
moEmiino®@  afle oeyomo
80 [o#NM OB BOEMLISMO
@MY 262030

(1) 20-%0 @MY 2iG2®B0
(2) 21-00 @MY 2iG2®R0
(3) 21 A @M 2iB 2030
(4)

4) 28 -00 @OM)2IB.030

2)Q16S E2IR®B@lLMMIE agy@
(IOQIMN@OET) QLI MG
QOMIBS @OCUBICOMOQI] 6w
6a]s LAOWIZER® ?

(1) 200w AIREGUIL: ®®)6T36Ed
R |S)EBIdleanyomy

(2) IWIEM MIWA BRAIBIUDAMIET)
(3) @elle @oaLB00mo6My
(4) @odl@ @oAIB:O0mI6eTY

P.T.O.
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25. Which of the following is not a
qualification of the President of India ?

(1) Must be a citizen of India

(2) Should have completed 35 years
of age

(38) Should have all other qualifications
required for a member of Lok Sabha

(4) Must be a well-educated person

26. Identify the statement which is correct

in connection with a Republic.

(1) Head of the state is nominated
(2) Head of the state is hereditary
(3) Head of the state is elected

(4) Head of the state acts as Chief

Justice

27. The Indian state which has a
bicameral legislature

1) Karnataka

2) Goa

3) Kerala

(1)
(2)
(3)
(4) Tamil Nadu

28. The maximum interval between the
two sessions of Indian Parliament
(1) 2 months
(2) 6 months
3) 3 months

(3)
(4) 4 months
M-1

SAT

25. opales  eoldocleeymail@d
A D (el aBlom cwow jm
@OLIO MY ®)

(1) vy el GRWIClEnemMo
(2) 35 @ aydovleowidensmo

(3) GRIOH:MEIMO BYB:LAIOMIRE
QG)BI0 I MWY0 ©ENMEOW@lH6
6Mo

(4) owdmM afla e oM
£6MmE0Qfl@lH66mo

26.  Jlajepflemaod enimwea]s todlwow

(IOOUM BHOENSDET)E>.

(1) @ Y®mEaIIem MIAMIdEGUo
e-21Q)MMY

(2) EY®ARIOIOHM alOMIEINMAOWS
Ql¢OIWIE:T) e

(3) @I YDERIUOM ODOEIETOND)
SO

(4) @ymelId® oflad g2gilovow
(I @Blloepmy

27. opales  eoldO®Icleeny M@
alaemel (rlea dldomoemmewIns

EDAB D (VEAIMo
(1) Hdemoseso
(2) ewod
(3) GO0
(4)

4) ®»aAl¥mos

28. &M alodeleaM@len oens aveEom

8METBRHEISWIORI aldmOIUS] &:0el
@8l

(1) 2 @mdmvo
(2)
(3) 3 momo
(4)

6 moMo

4 @d(Mvo
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29.

30.

31.

M-1

The date on which the Constituent
Assembly of India approved the

Constitution
1) November 26, 1949
2
3

4

January 26, 1950

(1)
@)
(3) August 15, 1947
(4)

November 26, 1950

Which of the following countries have
written Constitution ?

(i) New Zealand

(i) South Africa

(iii) Australia

(iv) Britain

(1) (i) and (ii)

(2) (ii) and (iii)

(3) (iii) and (iv)

(4) (i) and (iv)

The country in which Presidential
Democracy prevails

(1) United States of America
(2) Britain

(3) Japan

(4) India

29.

30.

31.

SAT

N BOEMALISMO MIIBMIEMIVE
BeMeRISME @000 M@3s]
@@ ag)omowiioymy ?

(1) mcuoerud 26, 1949
(2) =maudl 26, 1950
(3) @RwWwEY 15, 1947
(4) ocuoend®d 26,1950

2AIes 6.l Em6lenl M @3
ellail® coemealsmuIas 0o |6tB0d
aReO®EL00 ?

(i) mymileodd

(i) coddlemo(adles

(iii) eoeelw
endlgad

(i) o (i) 9o
(i) &0 (iii) &0
(i) ®o (iv) &0
(i) 0o (iv) go

213016)S 6 2Id@BIBlH6M @G (Imd]

WmMat @  Rmowlalmyo mlel

@M 0022 jo

(1) EEEOEILOHMD 6)ag)ds|MNISIE-UD
(2) enfigad

(3) =kqjoad

(4) ey

P.T.O.
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32. Permanent Executive is indicating to

33.

34.

35.

M-1

(1) Ministers
(2) Prime Minister
(3) Bureaucracy

(4) Chief Election Commissioner

The first Chief Justice of India
1) H.J. Kania

2) V.S. Sambath
3) G.V.Mavlankar

4

(
(
(
(4) K.G. Balakrishnan

)
)
)
)

The Constitutional Amendment made
in India by which the Right to Property
was deleted from the Fundamental
Rights

(1) 42" Amendment
(2) 44" Amendment
(3) 83“Amendment

(4) 74" Amendment

The Article of Indian Constitution
which is

Emergency
Article 352
Article 356
Article 360

Article 364

related to Financial

-10-

32.

33.

34.

35.

SAT
cudloo ag)@ldSial agma ey
6D0S|OHERB @ a@a@iiom auyoll
alleeyomy ?

(1) oEslood

(2)
(3)
(4)

4) O6UIO®OOETMS)a ] H>omlaHemnd

(1M (OB

HBGBOWMNNL30

DO J@OS (allnd oflad gyl

(1
2

H. J. &0
V. S. qoonu@rsy
G. V. oQleIs00

)
)
)
4)

(
(3
(4) K. G. enuoeldsynsiemad

OO BEEMARISMH@OS mvells:
@O B00068B61@ oMo qVJmBCU
0000 MIBHo 6210 BOEMELISMO

BBBN®I| af® ?
1) 42- 20 c_EW®
2) 44- 20 AU

3) 83- 20 eV

(1)
(2)
(3)
(4) 74- %0 cBRV®

HOm M coeMeaisMEI@ qvoml
OBl @S] AT E0QIMAWIMO
MNITWE|3 @M 21E.20B0 aR®) ?

@oMm)2ie.onco 352
@oMm)0ie.onco 356

@om)2ic.onco 360

@oM) 2160030 364
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36. Ritcher scale is associated with the
measurement of
(1) Temperature
)
(3) Intensity of earthquake
(4)

Pressure

Hardness of materials

37. A metal wire is stretched between two
nails and plucked by a force at the
middle. The frequency of vibration
does not depend on

1) Force applied

2

3

4

Length of the wire

(1)
(2)
(3) Tension of the wire
(4)

Nature of the metal

38. Rainbow is formed due to of
light.

(1) Dispersion

2) Reflection

)
(3) Scattering
(4) Both (1) and (2)

39. The angular speed of the second’s

hand of a watch is

1) — rad/
(1) 3Oras

Zﬁd/
(2) 7ras

T
(3) 1800 rad/s

T adl
21600 2%®

M-1

SAT

36. Oliad oM@ ®IeYvajowMAl
l@d ogga» @OROIMOQN NIMWeRS
®o6m ?

(1) ®oalMlel
)
(3) @M BU®
(4)

MIGIED)

QUMHORYOS 03IM Jo

37. o6eng @oeMloRHISQ 30y Bl
el o)) esglalldloemmy, sxmiles
OW JBOU®ETD) 630} Nlelo (eIl a]
®SEMUOPIENBIELMM  BMUMOIQLY®D

O MV PWINIHHITH® ?
(1) (ewousla] enielo
(2) omies migo

(3) ®emiwes alellapmielo
(4)

4) &miloyes avieoalo

38. ovallgpensodymMalm &omemo
(al000@Tslle) oyelo.

(1) (ldepmo
(2) (I@ladmmo
(3) afloveemo
(4) 1, 2 0 E6NBIo MYLINOETY

39. anafle@® emen@ ayollwies
BB06MIQ B0

(1) % Ol /OTVHH Y

2
(2) 7n OMUIM/OaVHHNY

T
(3) 1800 B0l OaVHHT

(4)

T
51600 Ol /OTVHHT

P.T.O.
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40. Lowest temperature theoretically

41.

possible is
(1) —273°C
(2) —273°F
(8) 273K

(4) -273K

The diagram given below shows the
magnetic flux lines between two
magnetic poles. Which of the following

represent the poles correctly ?

1 B4 0
=
(1) 1=S =S
2) 1=N ll=N
3) 1=N11=S
(4) 1=S ll=N

42. Which of the following particle does

M-1

not exist inside a nucleus ?

(1) Proton
(2) Neutron
(3) Electron
(4) None of these
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44. The telescope which is situated in
space is

(1) Galilean telescope

(2) Radio telescope
(3) Hubble’s telescope
(4) Terrestrial telescope

45. ‘Mangalyan’ is India’s prestigious

1) Mars Orbital Mission

(1)

(2) Moon Orbital Mission
(3) Space Orbital Mission
(4) Lunar Landing Mission

46. Electric currentis

1) Motion of electrons only

(1)

(2) Motion of protons only
(3) Motion of ions only
(4) All the above

47. The fibre which is popularly known
as artificial silk

(1) Buna —S (2) Bakelite
(3) Nylon (4) Rayon

48. The basic principle of chromatography

1) Adsorption

2) Attraction

(1)
(2)
(3) Absorption
(4)

4) Diffusion

M-1
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49. The cell commonly used in mobile
phones and laptops

1) Mercury cell

3

(1)

(2) Lithium ion cell
(3) Nickel-cadmium cell
(4)

4) Dry cell

50. The total number of atoms in 5
molecules of cane sugar
(1) 24 (2) 120
(3) 45 (4) 225

51.  Which of the following elements has
symbol given from its Latin name ?

(1
2

) Chlorine
(2) Sulphur
(3) Potassium
(4)

4) Calcium

52. The acid present in apple
1) Acetic acid
2
3

4

Malic acid

(1)
)
(3) Lactic acid
(4) Citric acid
53. The liquid non-metal at room
temperature
1
2
3

4

Mercury
Sulphur

(1)
()
(3) Bromine
(4) lodine
M-1
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54.

55.

56.

57.

M-1

The plastic used to make non-stick
cookware

(1) Terylene
(2) Nylon
(3) Polyacrylate

(4) Teflon

The metal not present in the alloy
Alnico

(1) Copper

(2) Iron

(3) Nickel

(4) Aluminium

The gas produced when egg shell
reacts with dilute sulphuric acid

(1) Hydrogen

(2) Ammonia

(3) Carbon dioxide

(4) Oxygen

Sodium is usually kept in Kerosene.
The reason is

(1) To remove impurities

(2) Toincrease hardness

(3) To avoid melting

(4) To avoid reaction with air and
moisture
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58. Which of the following are isobars ?

) 6012’ 8016
@) 6013, 6C14
@) 2OCa4O, 18Ar40
) 8018’ 9F19

59. Oleum is prepared by
(1) Dissolving SO, in water
(2) Dissolving SO,in Conc. H,SO,

(3) Mixing Conc. HCI and
Conc. HNQ,

(4) Mixing Conc. H,SO, and
Conc. HNO,

60. The pigment that gives red colour to
human blood is

1) Haemocyanin

2) Haemolymph

3) Myoglobin

(1)
(2)
(3)
(4) Haemoglobin

61. The quantity of water in milk is
identified through

1) Barometer

2) Thermometer

3) Lactometer

4) Calorimeter

(1)
()
(3)
(4)

M-1
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62.

63.

64.

65.

M-1

Identify the correct pair :

(1) Ribosome Power house

(2) Golgi complex Packs enzymes,
hormones etc., in

small vesicles

(3) Mitochondria Protein synthesis

stores water and

(4) Endoplasmic

reticulum excretory materials

Monotropa belongs to
(1) Total parasite
(2) Autotroph

(3) Partial parasite
(4)

4) Saprotroph

From which of the following organ
urea reaches the blood

(1) Lungs

(2) Kidneys

(3) Small intestine
(4)

4) Liver

The stage in the process of nutrition
through which the food components
become the part of the body

(1) Excretion

(2) Ingestion
(3) Assimilation
(4)

4) Absorption
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66.

67.

68.

69.

70.

M-1

Which one of the component is not
essential for photosynthesis ?

(1) Water and minerals
(2) Oxygen

(3) Chlorophyll

(4)

4) Carbon dioxide

Scientific rearing of silk worm is
(1) Apiculture (2) Horticulture
(3) Pisciculture (4) Sericulture

Tonoplast is the membrane of which
cell organelle

(1) Golgi complex
(2) Mitochondria
(38) Vacuole
(4)

4) Nucleus

The element obtained by
insectivorous plants from insects is
(1) Sulphur

)

(3) Phosphorous
(4)

Nitrogen

Carbon

Observe Column | and Il
| Il

a) Paddy (i) Ujwal

b) Bitter gourd (ii) Lola

c) Chilly (i) Priyanka

d) Pea (iv) Annapoorna

Select the correct matching :
(1) a—ii,b—i,c—iii,d—iv

(2) a—iv, b—iii,c—i, d—ii
(3) a—iii,b—ii,c—iv,d—i
(4) a—i, b—iv, c—ii, d —ii
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71.
prime numbers. The least among
them is

(1) 2
(@) 3
(3) 5
(4) 7

72. A number divided by 10 gives 6 as
the remainder. What would be the
remainder if the same number is
divided by 5 ?

(1) 3
(@) 2
(3) 1
(4) 0

73. Natural numbers are written in rows
and columns as below :

1 2 3 4 5
6 7 8 9

13 14

If we continue this, where would be the

number 123 ?
(1) 23“row, 3 number
(2) 24™row, 3 number
(3) 25" row, 3@ number
(4)

4) 26" row, 3@ number

M-1

The number 2015 is the sum of four
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74. 308025 and 309136 are the squares
of two consecutive natural numbers.
What is the square of the next natural
number ?

(1) 310247
(2) 310249
(3) 310251
(4) 310253

75. If the sum of the odd numbers
1, 3, 5,... upto 199 is subtracted from
the sum of the even numbers 2, 4, 6,...
upto 200, then what would we get ?

76. A number added to
11 1 1
—_t—t—+—+—
2 4 8 16 32
is that numbers ?

gives 1. What

(1)

M-1
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77. One and a half litres of water was
needed to fill three quarters of a
vessel. How much more water is
needed to fill the vessel ?

1
(1) 1 Itr.

(2) — ltr.

3
(3) 1 Itr.

(4) 1 Itr.

78. Atwo-digit number divided by another
two-digit number gives 5.375. What
is the sum of these numbers ?

(1) 49
(2) 102
(3) 196

(4) 392

79. The width and height of a rectangle
are increased by 10% to make a larger
rectangle. By what percent does the
area increase ?

M-1
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80. In a class of 40 children, the ratio of
the number of boys to the number of
girls is 2 : 3. How many more boys
are needed to make this 3:2 ?

(1) 10

81. A man deposited ¥ 10,000 in an
account which gives simple interest.
He withdrew the amount and interest
after two years. He would have got
T 64 more, had interest been
compounded. What was the rate of
interest as a percent ?
(1) 6
2 7
(3) 8
(4) 9

82. The number of boys and girls in a
class are the same. On a day when
only ten boys were absent, the
number of girls was twice the number
of boys. How many children were
present on that day ?

)
)
)
)

M-1
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(4) 30

P.T.O.



Class - VIl

83.

84.

85.

M-1

The sum of the digits of a two-digit
number added to the product of the
digits, give the original number again.
What is the digit in the one’s place of

the number ?
(1) 3 (2) 5

(3) 6 (4) 9

“The less we subtract, the more we
get ; whatever less, that much more”.
How do we write this in algebra ?

(1) x=(y+2)=(x-y)-z
(2) x+(y-2)=(x+y)-z
B) x=(y-2)=(x-y)+z
4) x+(y+z2)=(X+y)+2z
Each shape in the sums and products

given below stands for one of the
numbers0,1,2,3,4,5:

o+kxk=©
mHxeo=R
HxE=4¢
H+A=@

Which number does @ stand for ?
(1) 2 (2) 3
(3) 4 (4) 5
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86.

3cm

87.

M-1

The figure shows two rectangles :

5cm

What is the area of the slanted
rectangle ?

The figure below shows a rectangle
divided into four rectangles :

18 sq.cm 6sq.cm

2sq.cm

What is the area of fourth rectangle ?

(1) 4sqg.cm
(2)
(3)
(4)

6 sg.cm
8sqg.cm

10sq.cm
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88.

89.

90.

M-1

A figure made up of four squares :

-

The lengths of the sides of the

squares are 1 centimetre,
2 centimetres, 3 centimetres and
4 centimetres. What is the perimeter

of the figure ?
1) 28cm
2) 30cm
3) 40cm

(
(
(
(4) 42cm

)
)
)
)

The top and bottom lines in the figure
below are parallel :

55°

/%"

What is the size of the third angle
marked in the figure ?

(1) 120°
(3) 100°

(2) 110°

(4) 80°

Each angle of a regular polygon is
144°. How many sides does it have ?
(2) 8

(4) 12
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SAT

MNOAJ, VA2 IBIO6TBUD C.2IR®YD),
QU6)2J00) ©Jalo

-

VD2 I®EEIBEIOS QLGETBRIOS T80
1 . o, 2 . dl.,, 3 eqv. al. ,
4 oqv. dl. ag)MilemBemosm. e
QY IEDeM 28T ag)@@oe) ?
(1) 28 exv. all.

(2)
(3)
(4)

30 exv. ol
40 6. all.
42 6. oll.

af@odien mesileo ®oeYmas
QUOBD TOAOHODOET).

55°

45°

2l(O®EH@ BSOSO Q]
@BlHOHIM AMONODD G066
@O (@6 ?
(1) 120°
(3) 100°
60) TVDENIA0BLEROTIOT CHI6M]

egeo 144° @rem. @RI ag)®
QUGoETBRIENE ?

(1) 6
(3) 10

(2) 110°
(4) 80°

2) 8
(4) 12
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